1. Represent fonthenumberline. - (Ch.1 Rational Numbers

2. Write five rational numbers greater than -2,
3. State True or False

i. When we multiply a rational number with 1 we get same number.
iil. Arational number is always a whole number.

iii. Allthe whole numbers are rational numbers.

iv. All the integers are rational numbers,

4. Fillin the blanks

a Zerohas ______ reciprocal.
b. The product of a rational no. and its inverse is
¢. The numbers 5 and -5 are their own

d. The number is not the reciprocal of any number.
5. Match the columns
Column A Column B
i. The multiplicative inverse of llll a. Not defined
ii. The reciprocal of -1 b. ~1%
Iii. The reciprocal of 0 c.-1
iv. Negative of 1 % d. -H

6. Represent % on the number line.

7. Arrange in ascending order

21 -31
AR A

8  Which is greater?
= B . &
—;3 —9!3
b. - and 50

a and

9. using appropriate properties find : # x (—;) -3 % ;» + X3
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2 Five rational numbers greater than -2 are
1 1 1
5 1, T 0, 7
i L True
iL False, it Is not necessary that every rational number is whole number.
il True
iv. True
“* *No
b. One
C
Negative
d Zero
5 a -d
b -«
€ a
d -b
6. Divide the number line into 4 equal parts starting from '7 T :— on the right
J
side of number line. Bold mark 7 as asked in the question and mark it as any
alphabet like A
« 44 " N N >
7. LCMof5, 3,4 and 6 is 60
(12,20, - 15,10
S0,
(0] =2
Ascending order; = 29 4. =
8 [T AR AR )
(1) 9 7 m 7 o\
XY T ik ( e | QN ety 2
- 1 13 1)) Il)”"l 12x(-1 ( I.'J
LCM of 13 and 12 is 156
(108, -91
160
108 m
150 160
Hence, — is greater
b LCMof 9 and 10 is 90
N sl
o)
81 80
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Hence, —= Is greater.
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l . ( 7‘) ".‘ x 3 4 — v TLI By commutativity]
_ . ( _') ¢ T -I'—l T -‘ | By associativity)
_ . {( :‘) + ﬁ} "- X '3 [ By distributivity |
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